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import pandas as pd
import pprint
import numpy as np
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import matplotlib.pyplot as plt
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df = pd.read_csv("corona_20200129to0516.csv")

print(type(df))
print(df)
print(df.columns)
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df["location"].fillna(df["location"].mode()[0],inplace=True)
print(df{"location"].hasnans)
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Name: location, dtype: object

from sklearn.preprocessing import LabelEncoder
le = LabelEncoder()

df["location"] = le.fit_transform(df["location"])
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import seaborn as sns EHBEOE— My TZHALEUR.
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sns.heatmap(df.corr(),annot=True, ax=ax)
plt.show()
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print(sns.catplot(x="death", col="age ", kind="count",data=df))
print(sns.catplot(x="death", col="location", kind="count",data=df))
print(sns.catplot(x="death", col="symptom", kind="count",data=df))
print(sns.catplot(x="death", col="ud", kind="count",data=df))
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from sklearn.model_selection import train_test_split

X = df.drop(["onset","found","day death","day death(S)","death"], axis=1)
y = df["death"]

X_train, X_test, y_train, y_test = train_test_split(X, y, test_size=0.2, ¥
random_state=0, stratify=y)
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from sklearn.tree import DecisionTreeClassifier
model = DecisionTreeClassifier(max_depth=3)
model.fit(X_train, y_train)
print(model.score(X_train, y_train))

pred = model.predict(X_test)

print(pred)

from sklearn.metrics import accuracy_score

print(accuracy_score(pred, y_test))
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import matplotlib.pyplot as plt

from sklearn.tree import plot_tree

plt.figure(figsize=(15, 10))
plot_tree(model,feature_names=X_test.columns,class_names=["survived", ¥
“dead"], filled=True)

plt.show()
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